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1. [8%] Solve the following differential equations: E}zi + 4y = x - sin2x. : 42

cos @ d ,.J

10—6 cos @ )

2. [8%] Find the integral of P= [*

3. [10%] Solve the differential equations using the Laplace transform:

— —3—=—2y = e 4,subjectto y(0) =0,y'(0) = 1.

4. [12%] Calculate (ATA)'AT or AT (AAT)". Then find the left-inverse and/or a

. 11 0 1 0
right-inverse (when they exist) for 4 = [0 1 1] and B=[1 1]|.
0 1

5. [12%)] Show that the eigenvalues of 4 equal the eigenvalues of 4 T Provide an

example that the eigenvectors of 4 and AT are not the same.

6. FAAlL{E I BEER M [ IR BB —PIER A ELFE R (20%)
7. {a[58 Green’s theorem?SXEA{5IZARH (15%)
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